
S1

Supporting Information

Reusable Brønsted Acidic Ionic Liquid Efficiently Catalyzed
N-Formylation and N-Acylation of Amines

Chun Li,† Mengna Wang,† Xunhua Lu, Ling Zhang, Jian Jiang, and Lin Zhang*

School of Pharmaceutical Sciences, Guizhou Medical University, No. 9 Beijing Road,

Guiyang 550004, People’s Republic of China

*Fax: +86-0851-88416166. Email: gmulinzhang@163.com
†C. Li and M. Wang contributed equally to this work

The supporting information contains 84 pages and 6 figures.



S2

Table of Contents

I. General information..................................................................................................S3

II. The determination of the acidity of BAILs....................................................S3

III. Mechanistic Studies.................................................................................................S4

IV. General procedure for N-formylation of amines using formic acid.....................S6

V. General procedure for N-formylation of amines using DMF.................................S6

VI. General procedure A: N-acylation of amines using HAc...................................S12

VII. General procedure B: N-acylation of amines using DMA................................S12

VIII. General procedure for the amidation of carboxylic acids with amines........S16

IX. 1H and 13C-NMR Spectra of the synthesised products.......................................S23

X. Chiral HPLC analysis..............................................................................................S79



S3

ⅠGeneral information

All reactions were carried out under normal conditions and no any stringent conditions

were used. Commercially available compounds were used without further purification.

Melting points were uncorrected and determined in an open capillary tube. NMR

experiments were recorded in DMSO-d6 and CDCl3 on a JEOL NMR 400 MHz

spectrometer using TMS as an internal standard. High-resolution mass spectra (HRMS)

were obtained on a Bruker MicroQTOFII instrument using electrospray ionization (ESI)

techniques.

Ⅱ The determination of the acidity of BAILs

Figure S1. Determination of acidity of BAILs in 13C NMR experiments on the mixture of
mesityl oxide and BAIL (2:1) in CDCl3 at 25 ℃. (a) pure mesityl oxide; (b) mesityl oxide
+ BAILⅠ; (c) mesityl oxide + BAILⅡ; (d)mesityl oxide + BAILⅢ.



S4

Ⅲ Mechanistic Studies

Figure S2. The C=O signal in CH3COOH in 13C NMR experiments on the mixture of
CH3COOH and BAIL Ⅰ (6:1) in CDCl3 at 25 ℃. (a) BAIL Ⅰ; (b) CH3COOH; (c)
CH3COOH + BAILⅠ ( mix at 80℃ for 20 h).

Figure S3. The FTIR spectrum. (a) CH3COOH; (b) BAIL Ⅰ /CH3COOH = 1/60 (mix at
80℃ for 20 h); (c) BAILⅠ /CH3COOH = 1/6 (mix at 80℃ for 20 h); (d) BAILⅠ.



S5

Figure S4. The C=O signal in 13C NMR experiments on the mixture of DMA and BAIL
Ⅰ (6:1) in CDCl3 at 25 ℃. (a) DMA; (b) DMA/BAILⅠ = 6/1 (mix at 140 ℃ for 20 h);
(c) BAILⅠ.

Figure S5. The C=O signal in 13C NMR experiments in CDCl3 at 25 ℃. (a) DMA; (b)
DMA and BAILⅠ(mix at rt for 20 h); (c) DMA and BAILⅠ(mix at rt 80 ℃r 20 h); (d)
DMA and BAILⅠ(mix at 120 ℃ for 20 h). (e) DMA and BAILⅠ(mix at 140 ℃ for 20
h); (f) CH3COOH and BAILⅠ(mix at 140℃ for 20 h).



S6

Rawdata #472 RT: 0.31 AV: 1 NL: 1.59E4
F: - c ESI Q1MS [200.000-220.000]

200 202 204 206 208 210 212 214 216 218 220
m/z

0

10

20

30

40

50

60

70

80

90

100
Re

lat
ive

 A
bu

nd
an

ce
213.03

208.97

201.06 215.01201.99 219.05
216.93205.04 210.97

214.04
211.94

206.99203.02 216.01209.97
218.04

207.97204.06 205.88

Figure S6. Mass spectrometric analysis on DMA/BAIL Ⅰ = 6/1 (mix at 140 ℃ for 20

h).

Ⅳ General procedure for N-formylation of amines using formic acid

To a round-bottom flask were added amine (1.0 mmol, 1.0 equiv), HCOOH (184.1 mg,

4.0 mmol, 4.0 equiv) and BAILⅠ (111 mg, 0.2 mmol, 0.2 equiv). The mixture was

vigorously stirred at 80 °C for 20 h and the progress of the reaction was monitored by

TLC visualized with UV short wavelengths followed by iodine or ninhydrin stain. Upon

completion, the mixture was diluted with EtOAc (10 mL) and filtered. The filtrate was

washed with 1 M hydrochloric acid (3 × 5 mL). The EtOAc layer was dried over

anhydrous Na2SO4 and concentrated under vacuum to obtain pure N-formyl amine

without column purification.

Ⅴ General procedure for N-formylation of amines using DMF

To a round bottomed flask were added amine (1.0 mmol, 1.0 equiv), DMF (438.5 mg,

6.0 mmol, 6.0 equiv) and BAILⅠ (111 mg, 0.2 mmol, 0.2 equiv). The mixture was

vigorously stirred at 140 °C for 20 h and the progress of the reaction was monitored by

TLC visualized with UV short wavelengths followed by iodine or ninhydrin stain. Upon

completion, the mixture was diluted with EtOAc (10 mL) and filtered. The filtrate was



S7

washed with 1 M hydrochloric acid (3 × 5 mL). The EtOAc layer was dried over

anhydrous Na2SO4 and concentrated under vacuum to obtain pure N-formylamine

without column purification.

N-phenyl-formamide(2a) 1
H
N H

O yellow solid, m.p. 47～48 ℃; the product was obtained in the form of 2 rotamers with
a ratio of 3:1. 1H NMR (DMSO-d6, 400 MHz) δ = 10.20 (s, 0.75H), 10.17 (s, 0.25H), 8.82 (d, J = 4.0
Hz, 0.25H), 8.32 (d, J = 2.0 Hz, 0.75H), 7.64 (d, J = 4.0 Hz, 1.5H), 7.31～7.35 (m, 2H), 7.22 (d, J =
4.0 Hz, 0.5H), 7.06～ 7.11 (m, 1H); 13C NMR (DMSO-d6, 100 MHz) δ = 163.04 (minor), 160.10
(major), 138.85 (minor), 138.78 (major), 129.89 (minor), 129.36 (major), 124.16 (minor), 124.12
(major), 119.69 (major), 118.09 (minor); HRMS: [M+Na+] calcd for C7H7NONa 144.0425, found
144.0424.
N-p-tolyl-formamide(2b) 1

H
N H

O white solid, m.p. 47～49 ℃ ; the product was obtained in the form of 2 rotamers
with a ratio of 3:1. 1H NMR (DMSO-d6, 400 MHz) δ = 10.08 (s, 0.75H), 10.03 (s, 0.25H), 8.72 (d, J =
6.0 Hz, 0.25H), 8.25 (d, J = 1.0 Hz, 0.75H), 7.49 (d, J = 4.0 Hz, 1.5H), 7.12 (d, J = 4.0 Hz, 2H), 7.08
(d, J = 4.0 Hz, 0.5H), 2.25 (s, 3H); 13C NMR (DMSO-d6, 100 MHz) δ = 162.94 (minor), 159.81
(major), 136.26, 133.21 (minor), 133.03 (major), 130.27 (minor), 129.70 (major), 119.61 (major),
118.19 (minor), 20.92 (major), 20.79 (minor); HRMS: [M+Na+] calcd for C8H9NONa 158.0582, found
158.0580.
N-(4-methoxy-phenyl)-formamide(2c) 1

O

H
N H

O
white solid, m.p. 79～80 ℃; the product was obtained in the form of 2 rotamers

with a ratio of 3:1. 1H NMR (DMSO-d6, 400 MHz) δ = 10.02 (s, 0.75H), 9.96 (d, J = 6.0 Hz, 0.25H),
8.61 (d, J = 6.0 Hz, 0.25H), 8.22 (d, J = 1.0 Hz,, 0.75H), 7.52 (d, J = 4.0 Hz, 1.5H), 7.12 (d, J = 4.0
Hz, 0.5H)，6.87～6.92 (m, 2H), 3.72 (s, 3H); 13C NMR (DMSO-d6, 100 MHz) δ = 163.05 (minor),
159.53 (major), 156.49 (minor), 155.88 (major), 131.95 (major), 131.76 (minor), 121.08 (major),
120.17 (minor), 115.08 (minor), 114.44 (major), 55.72 (minor), 55.63 (major); HRMS: [M+Na+] calcd
for C8H9O2NNa 174.0531, found 174.0528.
N-(4-fluoro-phenyl)-formamide(2d) 2

F

H
N H

O
white solid, m.p. 62～64 ℃ ; the product was obtained in the form of 2 rotamers



S8

with a ratio of 3:1. 1H NMR (DMSO-d6, 400 MHz) δ = 10.24 (s, 0.75H), 10.15 (d, J = 6.0 Hz, 0.25H),
8.72 (d, J = 6.0 Hz, 0.25H), 8.27 (d, J = 4.0 Hz, 0.75H), 7.62 (m, 1.5H), 7.22～7.25 (m, 0.5H), 7.14～
7.19 (m, 2H); 13C NMR (DMSO-d6, 100 MHz) δ = 163.16 (minor), 160.43 (minor), 159.95 (major),
159.80 (major), 158.05 (minor), 157.41 (major), 135.26 (minor), 135.23 (minor), 135.17 (major),
135.14 (major), 121.40 (major), 121.33 (major), 120.01 (minor), 119.93 (minor), 116.59 (minor),
116.37 (minor), 116.02 (major), 115.80 (major); HRMS: [M+Na+] calcd for C7H6FNONa 162.0331,
found 162.0324.
N-(4-chloro-phenyl)-formamide(2e) 1

Cl

H
N H

O
white solid, m.p. 100～ 102 ℃ ; the product was obtained in the form of 2

rotamers with a ratio of 4:1. 1H NMR (DMSO-d6, 400 MHz) δ = 10.33 (s, 0.8H), 10.24 (d, J = 4.0 Hz,
0.2H), 8.81 (d, J = 6.0 Hz, 0.2H), 8.31 (d, J = 1.0 Hz, 0.8H), 7.62-7.66 (m, 1.6H), 7.36～7.40 (m,
2H)，7.24 (d, J = 4.0 Hz, 0.4H); 13C NMR (DMSO-d6, 100 MHz) δ = 163.01 (minor), 160.19 (major),
137.90 (minor), 137.65 (major), 129.70 (minor), 129.24 (major), 127.96 (minor), 127.65 (major),
121.19 (major), 119.46 (minor); HRMS: [M+Na+] calcd for C7H6ClNONa 178.0036, found 178.0036.
N-(4-bromo-phenyl)-formamide(2f) 2

Br

H
N H

O
white solid, m.p. 113～ 115 ℃ ; the product was obtained in the form of 2

rotamers with a ratio of 4:1. 1H NMR (DMSO-d6, 400 MHz) δ = 10.33 (s, 0.8H), 10.23 (d, J = 4.0 Hz,
0.2H), 8.81 (d, J = 6.0 Hz, 0.2H), 8.31 (d, J = 1.0 Hz,, 0.8H), 7.58 (d, J = 4.0 Hz, 1.6H), 7.51 (m,
2H)，7.18 (d, J = 4.0 Hz, 0.4H); 13C NMR (DMSO-d6, 100 MHz) δ = 162.95 (minor), 160.22 (major),
138.32 (minor), 138.04 (major), 132.59 (minor), 132.14 (major), 121.55 (major), 119.80 (minor),
115.86 (minor), 115.63 (major); HRMS: [M+Na+] calcd for C7H6BrNONa 221.9530, found 221.9514.
N-(4-nitro-phenyl)-formamide(2g) 1

O2N

H
N H

O
light yellow solid, m.p. 196～198 ℃; the product was obtained in the form of

2 rotamers with a ratio of 3:1. 1H NMR (DMSO-d6, 400 MHz) δ = 10.84 (s, 0.75H), 10.74 (s, 0.25H),
9.09 (s, 0.25H), 8.44 (s, 0.75H), 8.25 (d, J = 4.0 Hz, 2H), 7.85 (d, J = 4.0 Hz, 1.5H)，7.45 (d, J = 4.0
Hz, 0.5H); 13C NMR (DMSO-d6, 100 MHz) δ = 163.31 (minor), 161.01 (major), 145.48 (minor),
144.72 (major), 143.09 (major), 143.00 (minor), 125.98 (minor), 125.59 (major), 119.51 (major),
117.07 (minor); HRMS: [M+Na+] calcd for C7H6O3N2Na 189.0276, found 189.0278.



S9

N-(3-chloro-phenyl)-formamide(2h) 3
H
N H

O

Cl light yellow solid, m.p. 56～58 ℃; the product was obtained in the form of 2 rotamers
with a ratio of 3:1. 1H NMR (DMSO-d6, 400 MHz) δ = 10.39 (s, 0.75H), 10.26 (d, J = 4.0 Hz, 0.25H),
8.86 (d, J = 4.0 Hz, 0.25H), 8.32(d, J = 1.0 Hz, 0.75H), 7.81 (m, 0.75H), 7.46 (d, J = 4.0 Hz, 0.75H),
7.33～7.38 (m, 1H), 7.32 (m, 0.25H), 7.18 (d, J = 4.0 Hz, 0.25H), 7.12～7.15 (m, 1H); 13C NMR
(DMSO-d6, 100 MHz) δ = 163.08 (minor), 160.46 (major), 140.56 (minor), 140.09 (major), 134.26
(minor), 133.62 (major), 131.48 (minor), 131.06 (major), 123.82 (major), 123.65 (minor), 119.18
(major), 118.00 (major), 117.34 (major), 116.24 (major); HRMS: [M+Na+] calcd for C7H6ClNONa
178.0036, found 178.0027.
N-o-tolyl-formamide(2i) 4

H
N H

O light yellow solid, m.p. 56～57 ℃; the product was obtained in the form of 2 rotamers

with a ratio of 7:3. 1H NMR (DMSO-d6, 400 MHz) δ = 9.73 (d, J = 4.0 Hz, 0.3H), 9.55 (s, 0.7H), 8.42
(d, J = 8.0 Hz, 0.3H), 8.30 (d, J = 2.0 Hz, 0.7H), 7.73～7.75 (m, 0.7H), 7.20～7.23 (m, 1.3H)，7.14～
7.18 (m, 1H), 7.09～7.13 (m, 0.3H), 7.03～7.07(m, 0.7H), 2.24 (s, 0.9H), 7.23 (s, 2.1H); 13C NMR
(DMSO-d6, 100 MHz) δ = 164.08 (minor), 160.26 (major), 136.69 (minor), 136.13 (major), 131.26
(minor), 130.85 (major), 130.80 (minor), 129.74 (major), 127.22 (minor), 126.57 (major), 125.76
(minor), 125.10 (major), 123.30 (major), 122.32 (minor), 18.29 (major), 18.15 (minor); HRMS:
[M+H+] calcd for C8H10NO 136.0762, found 136.0765.
N-(2,6-dimethyl-phenyl)-formamide(2j) 5

H
N H

O white solid, m.p. 158～159 ℃ ; the product was obtained in the form of 2 rotamers

with a ratio of 5:1. 1H NMR (DMSO-d6, 400 MHz) δ = 9.44 (s, 0.83H), 9.28 (d, J = 6.0 Hz, 0.17H),
8.25 (s, 0.83H), 7.98 (d, J = 6.0 Hz, 0.17H), 7.10～7.14 (m, 0.5H), 7.04～7.09 (m, 2.5H)，2.22 (s,
1H), 2.15 (s, 5H); 13C NMR (DMSO-d6, 100 MHz) δ = 165.14 (minor), 159.81 (major), 135.43
(minor), 135.19 (major), 134.95 (minor), 134.50 (major), 128.76 (minor), 128.18 (major), 127.26
(minor), 127.03 (major), 18.86 (minor), 18.75 (major); HRMS: [M+H+] calcd for C9H12NO 150.0919,
found 150.0918.
N-cyclohexyl-formamide(2k) 3

H
N

O

H

light yellow oil; The product was obtained in the form of 2 rotamers with a ratio of 9:1.
1H NMR (DMSO-d6, 400 MHz) δ = 7.95 (d, J = 6.0 Hz, 0.9H), 7.87 (s, 0.9H), 7.70-7.75 (m, 0.1H),
7.49-7.60 (m, 0.9H), 3.52～3.57 (m, 0.9H), 3.11-3.19 (m, 0.1H), 1.59～1.68 (m, 4H), 1.49 (d, J = 4.0



S10

Hz, 1H), 1.08～1.23 (m, 5H); 13C NMR (DMSO-d6, 100 MHz) δ = 163.93 (minor), 160.44 (major),
50.68 (minor), 46.54 (major), 34.72 (minor), 32.84 (major), 25.66 (major), 25.35 (minor), 25.09
(minor), 24.88 (major); HRMS: [M+H+] calcd for C7H14NO 128.1075, found 128.1078.
N-hexyl-formamide(2l) 3

H
N

O

H

light yellow oil; the product was obtained in the form of 2 rotamers with a

ratio of 9:1. 1H NMR (DMSO-d6, 400 MHz) δ = 7.99 (s, 1.8H), 7.94 (s, 0.1H), 7.91 (s. 0.1H), 3.04～
3.09 (m, 2H), 1.36～1.41 (m, 2H), 1.25～1.30 (m, 6H), 0.86 (m, 3H); 13C NMR (DMSO-d6, 100
MHz) δ = 164.97 (minor), 161.38 (major), 41.38 (minor), 37.58 (major), 31.50 (major), 31.43
(minor), 29.53, 26.60 (major), 26.11 (minor), 22.63, 14.43; HRMS: [M+H+] calcd for C7H16NO
130.1232, found 130.1234.
N-benzyl-formamide(2m) 4

N
H

O

H

light yellow solid, 62～63 ℃; the product was obtained in the form of 2 rotamers

with a ratio of 9:1. 1H NMR (DMSO-d6, 400 MHz) δ = 8.53 (s, 1H), 8.16 (s, 0.9H), 8.14 (d, J = 6.0
Hz, 0.1H), 7.33～7.37 (m, 2H), 7.26-7.30 (m, 3H), 4.32 (d, J = 2.0 Hz, 2H); 13C NMR (DMSO-d6,
100 MHz) δ = 165.44 (minor), 161.56 (major), 140.19 (minor), 139.52 (major), 128.97 (minor),
128.86 (major), 127.82 (major), 127.60 (minor), 127.57 (minor), 127.40 (minor), 45.08 (minor), 41.25
(major); HRMS: [M+Na+] calcd for C8H9NONa 158.0582, found 158.0577.
N-phenethyl-formamide(2n) 6

H
N

O

H

light yellow oil; the product was obtained in the form of 2 rotamers with a ratio
of 9:1. 1H NMR (DMSO-d6, 400 MHz) δ = 8.06 (s, 0.9H), δ = 8.01 (s, 0.9H), 7.79 (d, J = 6.0 Hz,
0.1H), 7.75 (s, 0.1H), 7.28～7.31 (m, 2H), 7.19～7.23 (m, 3H), 3.31～3.36 (m, 2H), 2.72～2.75 (m,
2H); 13C NMR (DMSO-d6, 100 MHz) δ = 164.90 (minor), 161.53 (major), 139.74 (major), 139.24
(minor), 129.37 (minor), 129.11 (major), 128.82, 126.69 (minor), 126.62 (major), 42.96 (minor),
39.20 (major), 37.62 (minor), 35.50 (major); HRMS: [M+Na+] calcd for C9H11NONa 172.0738, found
172.0736.
N-[2-(1H-indol-3-yl)-ethyl]-formamide(2o) 7

N
H

N
H

O

H

brown oil; the product was obtained in the form of 2 rotamers with a ratio of 9:1.
1H NMR (DMSO-d6, 400 MHz) δ =10.83 (s, 1H), 8.08 (s, 0.9H), 8.04 (s, 0.9H), 7.83 (d, J = 6.0 Hz,
0.1H), 7.75 (d, J = 4.0 Hz, 0.1H), 7.54 (d, J = 4.0 Hz, 1H), 7.35 (d, J = 4.0 Hz, 1H), 7.17 (d, J = 2.0
Hz, 0.9H), 7.15 (d, J = 1.0 Hz, 0.1H), 7.05～7.09 (m, 1H), 6.97～7.01 (m, 1H), 3.34～3.39 (m, 2H),
2.83～2.87 (m, 2H); 13C NMR (DMSO-d6, 100 MHz) δ = 164.95 (minor), 161.60 (major), 136.77,



S11

127.68, 127.63 (minor), 123.57 (minor), 123.23 (major), 121.46 , 118.79 (major), 118.78, 118.74,
112.09 (major), 112.09, 111.90(major), 111.55 (minor), 42.28 (minor), 38.56 (major), 27.72 (minor),
25.62 (major); HRMS: [M+Na+] calcd for C11H12N2ONa 211.0847, found 211.0839.
N-(1-phenyl-ethyl)-formamide(2p) 7

N
H

O

H

light yellow oil; the product was obtained in the form of 2 rotamers with a ratio of

9:1. 1H NMR (DMSO-d6, 400 MHz) δ = 8.54 (d, J = 2.0 Hz, 0.9H), 8.28 ～8.33(m, 0.1H), 8.09 (d, J
= 4.0 Hz, 0.1H), 8.04 (s, 0.9H), 7.31～7.35 (m, 4H), 7.21～7.26 (m, 1H), 4.96～5.03 (m, 0.9H),
4.65～4.73 (m, 0.1H), 1.41 (d, J = 4.0 Hz, 0.3H), 1.36 (d, J = 4.0 Hz, 2.7H); 13C NMR (DMSO-d6,
100 MHz) δ = 164.47 (minor), 160.57 (major), 145.22 (minor), 144.62 (major), 128.93 (minor),
128.80 (major), 127.41 (minor), 127.25 (major), 126.44 (major), 126.37 (minor), 51.27 (minor), 47.05
(major), 23.91 (minor), 22.93 (major); HRMS: [M+Na+] calcd for C9H11NONa 172.0738, found
172.0736.
N-pyridin-2-ylmethyl-formamide(2q) 7

N
H
N

O

H

brown oil; the product was obtained in the form of 2 rotamers with a ratio of 9:1. 1H

NMR (DMSO-d6, 400 MHz) δ = 8.59 (s, 1H), 8.51 (d, J = 4.0 Hz, 1H), 8.18 (s, 0.9H), 8.14 (s, 0.1H),
7.75～7.79 (m, 1H), 7.31 (d, J = 4.0 Hz, 1H), 7.26～7.29 (m, 1H), 4.40 (d, J = 2.0 Hz, 1H); 13C NMR
(DMSO-d6, 100 MHz) δ = 165.86 (minor), 161.82 (major), 159.23 (minor), 158.46 (major), 149.61
(minor), 149.41 (major), 137.44 (minor), 137.30 (major), 122.94 (minor), 122.73 (major), 121.74
(minor), 121.65 (major), 46.99 (minor), 43.30 (major); HRMS: [M+Na+] calcd for C7H8N2ONa
159.0534, found 159.0539.
N-methyl-N-phenyl-formamide(2r) 3

N H

O brown oil; the product was obtained in the form of 2 rotamers with a ratio of 9:1. .m.p.
1H NMR (DMSO-d6, 400 MHz) δ = 8.53 (s, 0.9H), 8.35 (s, 0.1H), 7.49 (d, J = 4.0 Hz, 0.2H), 7.40～
7.44 (m, 2H), 7.33 (d, J = 4.0 Hz, 1.8H), 7.23～7.27 (m, 1H), 3.21 (s, 3H); 13C NMR (DMSO-d6, 100
MHz) δ = 163.06 (minor), 162.55 (major), 142.56 (major), 140.95 (minor), 129.91 (major), 129.17
(minor), 126.09 (major), 125.89 (minor), 123.53 (minor), 121.99 (major), 36.61 (minor), 31.50
(major); HRMS: [M+Na+] calcd for C8H9NONa 158.0582, found 158.0577.
2,3-dihydro-indole-1-carbaldehyde(2s) 7

N

H
O light yellow solid, 62～64 ℃; The product was obtained in the form of 2 rotamers with

a ratio of 3:1. 1H NMR (DMSO-d6, 400 MHz) δ = 9.07 (s, 0.75H), 8.51 (s, 0.25H), 7.94 (d, J = 4.0 Hz,



S12

0.25H), 7.46 (d, J = 4.0 Hz, 0.75H), 7.30 (d, J = 4.0 Hz, 1H), 7.18～7.22 (m, 1H), 7.03～7.07 (m,
1H), 4.13～4.17 (m, 0.5H), 3.91～3.96 (m, 1.5H), 3.10～3.15 (m, 2H); 13C NMR (DMSO-d6, 100
MHz) δ = 160.62 (minor), 158.88 (major), 141.75 (minor), 141.68 (major), 133.15 (minor), 132.23
(major), 127.80 (major), 127.52 (minor), 126.31 (major), 125.63 (minor), 124.56 (major), 124.13
(minor), 115.98 (minor), 110.35 (major), 46.95 (minor), 44.63 (major), 27.67 (minor), 27.08 (major);
HRMS: [M+Na+] calcd for C9H9NONa 170.0582, found 170.0582.
N-pyridin-2-yl-formamide(2t) 4

N

H
N H

O white solid, m.p. 70～71 ℃; the product was obtained in the form of 2 rotamers with
a ratio of 1:1. 1H NMR (DMSO-d6, 400 MHz) δ = 10.60 (s, 1H), 9.30 (d, J = 4.0 Hz, 0.5H), 8.34 (s,
1H), 8.26 (d, J = 1.0 Hz 0.5H), 8.07 (d, J = 4.0 Hz, 0.5H), 7.73～7.82 (m, 1H), 7.08～7.13 (m, 1H),
6.94(s, J = 4.0 Hz, 0.5H); 13C NMR (DMSO-d6, 100 MHz) δ = 162.66, 160.64, 152.16, 151.55,
148.69, 148.58, 139.25, 138.86, 120.30, 119.76, 114.30, 111.85; HRMS: [M+Na+] calcd for
C6H6N2ONa 145.0378, found 145.0379.

Ⅵ General procedure A: N-acylation of amines using HAc

To a round bottomed flask were added amine (1.0 mmol, 1.0 equiv), HAc (240.2 mg, 4.0

mmol, 4.0 equiv) and BAILⅠ (111 mg, 0.2 mmol, 0.2 equiv). The mixture was

vigorously stirred at given temperature for 20 h and the progress of the reaction was

monitored by TLC visualized with UV short wavelengths followed by iodine or

ninhydrin stain. After completion, the mixture was diluted with EtOAc (10 mL) and

filtered. The filtrate was washed with 1 M hydrochloric acid (3 × 5 mL). The EtOAc

layer was dried over anhydrous Na2SO4 and concentrated under vacuum to obtain pure

acetamide without column purification.

Ⅶ General procedure B: N-acylation of amines using DMA

To a round bottomed flask were added amine (1.0 mmol, 1.0 equiv), DMA (522.7 mg, 6.0

mmol, 6.0 equiv) and BAILⅠ (111 mg, 0.2 mmol, 0.2 equiv). The mixture was

vigorously stirred at 140 °C for 20 h and the progress of the reaction was monitored by

TLC visualized with UV short wavelengths followed by iodine or ninhydrin stain. After

completion, the mixture was diluted with EtOAc (10 mL), then filtered the precipitate

formed and filtrate was washed with 1 M hydrochloric acid (3 X 5 mL). The EtOAc layer



S13

was dried over anhydrous Na2SO4 and concentrated under vacuum to obtain afforded

pure acetamide without column purification.

N-phenyl-acetamide(3a) 1
H
N

O white solid, mp: 113～114 ℃. 1H NMR (DMSO-d6, 400 MHz) δ = 9.92 (s, 1H), 7.58 (d, J
= 4.0 Hz, 2H), 7.27～7.31 (m, 2H), 7.01～7.04 (m, 1H), 2.05 (s, 3H); 13C NMR (DMSO-d6, 100 MHz) δ =
168.77, 139.86, 129.17, 123.47 , 119.49, 24.52 ; HRMS: [M+Na+] calcd for C8H9NNaO 158.0582, found
158.0585.
N-p-tolyl-acetamide(3b) 1

H
N

O white solid, mp: 150～152 ℃. 1H NMR (DMSO-d6, 400 MHz) δ = 9.83 (s, 1H), 7.47

(d, J = 4.0 Hz, 2H), 7.09 (d, J = 4.0 Hz, 2H), 2.25 (s, 3H), 2.03 (s, 3H); 13C NMR (DMSO-d6, 100 MHz) δ
= 168.51, 137.37, 132.31, 129.53, 119.51, 24.45, 20.93; HRMS: [M+Na+] calcd for C9H11NNaO
172.0738, found 172.0736.
N-(4-methoxy-phenyl)-acetamide(3c) 8

O

H
N

O
white solid, mp: 126～128 ℃ . 1H NMR (DMSO-d6, 400 MHz) δ = 9.77 (s, 1H),

7.48 (d, J = 4.0 Hz, 2H), 6.87 (d, J = 4.0 Hz, 2H), 3.72 (s, 3H), 2.01 (s, 3H); 13C NMR (DMSO-d6, 100
MHz) δ = 168.22, 155.52, 133.06, 121.04, 114.29, 55.64, 24.32; HRMS: [M+Na+] calcd for C9H11NNaO2

188.0687, found 188.0678.
N-(4-fluoro-phenyl)-acetamide(3d) 9

F

H
N

O
light yellow solid, mp: 150～152 ℃. 1H NMR (DMSO-d6, 400 MHz) δ = 9.98 (s, 1H),

7.60 (d, J = 4.0 Hz, 2H), 7.13 (d, J = 4.0 Hz, 2H), 2.05 (s, 3H); 13C NMR (DMSO-d6, 100 MHz) δ =
168.66, 158.33 (d, 1JCF = 238.0 Hz), 136.25 (d, 4JCF = 2.0 Hz), 121.19 (d, 3JCF = 8.0 Hz), 115.69 (d, 2JCF =
22.0 Hz), 24.37; HRMS: [M+Na+] calcd for C8H8FNNaO 176.0488, found 176.0492.
N-(4-chloro-phenyl)-acetamide(3e) 2

Cl

H
N

O
light yellow solid, mp: 176～178℃ . 1H NMR (DMSO-d6, 400 MHz) δ = 10.06 (s,

1H), 7.62 (d, J = 6.0 Hz, 2H), 7.35 (d, J = 4.0 Hz, 2H), 2.05 (s, 3H); 13C NMR (DMSO-d6, 100 MHz) δ =
168.95, 138.79, 129.08, 127.00, 120.98, 24.51; HRMS: [M+Na+] calcd for C8H8ClNNaO 192.0192,



S14

found 192.0182.
N-(4-bromo-phenyl)-acetamide(3f) 2

Br

H
N

O
yellow solid, mp: 167～169℃ . 1H NMR (DMSO-d6, 400 MHz) δ = 10.07 (s, 1H),

7.57 (d, J = 4.0 Hz, 2H), 7.46 (d, J = 6.0 Hz, 2H), 2.05 (s, 3H); 13C NMR (DMSO-d6, 100 MHz) δ =
168.97, 139.21, 131.97, 121.38, 115.00, 24.54; HRMS: [M+Na+] calcd for C8H8BrNNaO 235.9687,
237.9666, found 235.9690, 237.9689.
N-(4-nitro-phenyl)-acetamide(3g) 10

O2N

H
N

O
yellow solid, mp: 210～213 ℃. 1H NMR (DMSO-d6, 400 MHz) δ = 10.55(s, 1H),

8.21 (d, J = 4.0 Hz, 2H), 7.83 (d, J = 6.0 Hz, 2H), 2.13 (s, 3H); 13C NMR (DMSO-d6, 100 MHz) δ =
169.86, 145.97, 142.50, 125.48, 119.05, 24.75; HRMS: [M+Na+] calcd for C8H8N2NaO3 203.0433,
found 203.0428.
N-(3-chloro-phenyl)-acetamide(3h) 2

H
N

O

Cl yellow solid, mp: 75～76 ℃. 1H NMR (DMSO-d6, 400 MHz) δ = 10.12 (s, 1H), 7.82 (s,
1H), 7.43 (d, J = 4.0 Hz, 1H), 7.29～7.33 (m, 1H), 7.07 (d, J = 4.0 Hz, 2H), 2.07 (s, 3H); 13C NMR
(DMSO-d6, 100 MHz) δ = 169.18, 141.27, 133.56, 130.81, 123.16, 118.94, 117.79, 24.54; HRMS:
[M+Na+] calcd for C8H8ClNNaO 192.0192, found 192.0188.
N-o-tolyl-acetamide(3i) 11

H
N

O white solid, mp: 98～100 ℃. 1H NMR (DMSO-d6, 400 MHz) δ = 9.28 (s, 1H), 7.39 (d, J

= 4.0 Hz, 1H), 7.19 (d, J = 4.0 Hz, 1H), 7.12～7.16 (m, 2H), 7.04～7.07 (m, 2H), 2.19 (s, 3H), 2.05 (s,
3H); 13C NMR (DMSO-d6, 100 MHz) δ = 168.65, 137.01, 132.02, 130.73, 126.36, 125.50, 125.47, 23.79,
18.40; HRMS: [M+Na+] calcd for C9H11NNaO 172.0738, found 172.0732.
N-cyclohexyl-acetamide(3k) 9

H
N

O light yellow oil; 1H NMR (DMSO-d6, 400 MHz) δ = 7.70 (d, J = 4.0 Hz, 1H), 3.45-3.52(m,
1H), 1.76 (s, 3H), 1.64～1.72 (m, 4H), 1.06～1.28 (m, 6H); 13C NMR (DMSO-d6, 100 MHz) δ = 168.49,
47.85, 35.05, 25.76, 25.13, 23.27; HRMS: [M+H+] calcd for C8H14NNaO 164.1051, found 164.1045.



S15

N-hexyl-acetamide(3l) 9

H
N

O light yellow oil; 1H NMR (DMSO-d6, 400 MHz) δ = 7.80(s, 1H), 2.97～3.02(m,

2H), 1.78 (s, 3H), 1.24～1.36 (m, 8H), 0.85～0.87 (m, 3H); 13C NMR (DMSO-d6, 100 MHz) δ = 169.35,
39.00, 31.54, 29.64, 26.66, 23.11, 22.60, 14.44; HRMS: [M+H+] calcd for C8H17NNaO 166.1208, found
166.1202.
N-benzyl-acetamide(3m) 9

N
H

O

white solid, mp: 60～62℃ .1H NMR (DMSO-d6, 400 MHz) δ = 8.33 (s, 1H), 7.30～

7.33 (m, 2H), 7.21～ 7.25 (m, 3H), 4.24 (d, J = 2.0 Hz, 2H), 1.87(s, 3H), 2.07 (s, 3H); 13C NMR
(DMSO-d6, 100 MHz) δ = 169.63, 140.14, 128.78, 127.78, 127.24, 42.63, 23.09; HRMS: [M+Na+] calcd
for C9H11NNaO 172.0738, found 172.0732.
N-phenethyl-acetamide(3n) 12

H
N

O white solid, mp: 52～54℃. 1H NMR (DMSO-d6, 400 MHz) δ =7.93 (s, 1H), 7.28～
7.32 (m, 2H), 7.19～ 7.22 (m, 3H), 3.24～3.26 (m, 2H), 2.70～ 2.73(m, 2H), 1.08 (s, 3H); 13C NMR
(DMSO-d6, 100 MHz) δ = 169.57, 140.06, 129.11, 128.82, 126.56, 40.74, 35.75, 23.13; HRMS: [M+Na+]
calcd for C10H13NNaO 186.0895, found 186.0888.
N-[2-(1H-indol-3-yl)-ethyl]-acetamide(3o) 13

N
H

N
H

O

brown solid, mp: 75～ 77℃ . 1H NMR (DMSO-d6, 400 MHz) δ =10.81 (s, 1H),

7.93～7.95 (m, 1H), 7.53 (d, J = 4.0 Hz, 1H), 7.34 (d, J = 4.0 Hz, 1H), 7.14 (d, J = 2.0 Hz, 1H), 7.05～
7.09 (m, 1H), 6.96～ 7.00 (m, 1H), 3.30～3.35(m, 2H), 2.80～2.84(m, 2H), 1.81(s, 3H); 13C NMR
(DMSO-d6, 100 MHz) δ = 169.54, 136.75, 127.76, 123.10, 121.42, 118.74, 112.40, 111.88, 60.29, 25.77,
23.24, 21.29; HRMS: [M+Na+] calcd for C12H14N2NaO 225.1004, found 225.0989.
N-(1-phenyl-ethyl)-acetamide(3p) 14

N
H

O

white solid, mp: 99～101℃. 1H NMR (DMSO-d6, 400 MHz) δ =8.36 (s, 1H), 7.31～

7.33 (m, 4H), 7.21～7.24 (m, 1H), 4.89～4.96 (m, 1H), 1.86(s, 3H), 1.35(d, J = 2.0 Hz, 3H); 13C NMR
(DMSO-d6, 100 MHz) δ = 168.79, 145.35, 128.72, 127.05, 126.49, 48.30, 23.17, 23.03; HRMS: [M+Na+]
calcd for C10H13NNaO 186.0895, found 186.0882.



S16

N-pyridin-2-ylmethyl-acetamide(3q) 15

N
H
N

O white solid, mp: 58～59℃ . 1H NMR (DMSO-d6, 400 MHz) δ =8.50 (d, J = 2.0 Hz,

1H), 8.44 (s, 1H), 7.73～7.77 (m, 1H), 7.24～7.29 (m, 2H), 4.35 (d, J = 4.0 Hz, 2H), 1.91 (s, 3H); 13C
NMR (DMSO-d6, 100 MHz) δ = 169.94, 159.24, 149.33, 137.19, 122.57, 121.54, 44.73, 23.07; HRMS:
[M+Na+] calcd for C8H10N2NaO 173.0691, found 173.0684.
N-methyl-N-phenyl-acetamide(3r) 14

N

O white solid, mp: 98～100 ℃ . 1H NMR (DMSO-d6, 400 MHz) δ = 7.43～7.47 (m, 2H),

7.33～ 7.35 (m, 3H), 3.14 (s, 3H), 1.75 (s, 3H); 13C NMR (DMSO-d6, 100 MHz) δ = 169.46, 144.90,
130.10, 127.91, 127.60, 37.05, 22.73; HRMS: [M+Na+] calcd for C9H11NNaO 172.0738, found
172.0732.
1-(2,3-Dihydro-indol-1-yl)-ethanone(3s) 16

N

O light yellow solid, 101～103℃ . 1H NMR (DMSO-d6, 400 MHz) δ =8.06 (d, J = 4.0 Hz,

1H), 7.22(d, J = 4.0 Hz, 1H), 7.12～7.16(m, 1H), 6.97～7.00 (m, 1H), 4.04～4.09 (m, 2H), 3.11～3.15 (m,
2H), 2.15 (s, 3H); 13C NMR (DMSO-d6, 100 MHz) δ = 169.01, 143.42, 132.22, 127.42, 125.28, 123.54,
116.30, 48.61, 27.87, 24.52; HRMS: [M+Na+] calcd for C10H11NNaO 184.0738, found 184.0732.
N-pyridin-2-yl-acetamide(3t) 9

N

H
N

O white solid, m.p. 69～71℃. 1H NMR (DMSO-d6, 400 MHz) δ =10.47 (s, 1H), 8.29 (d, J =
2.0 Hz, 1H), 8.06 (d, J = 4.0 Hz, 1H), 7.73～7.78 (m, 1H), 7.06～7.09 (m, 1H), 2.09 (s, 3H); 13C NMR
(DMSO-d6, 100 MHz) δ = 169.80, 152.64, 148.41, 138.61, 119.72, 113.83, 24.43; HRMS: [M+Na+] calcd
for C7H8N2NaO 159.0534, found 159.0528.

Ⅷ General procedure for the amidation of carboxylic acids with amines

To a round bottomed flask were added amine (1.0 mmol, 1.0 equiv), carboxylic acids

(reference to Table 5 in main article) and BAIL Ⅰ (111 mg, 0.2 mmol, 0.2 equiv). After

warming to the given temperature, the mixture became a viscous liquid, which was

vigorously stirred for 20 h. The progress of the reaction was monitored by TLC

visualized with UV short wavelengths followed by iodine or ninhydrin stain. After



S17

completion, the mixture was diluted with EtOAc (10 mL)and filtered. The filtrate was

washed with 1 M hydrochloric acid (3 × 5 mL). The EtOAc layer was dried over

anhydrous Na2SO4 and concentrated under vacuum to obtain pure product without

column purification.

Hexanoic acid phenylamide(4a) 17
H
N

O white solid, mp: 95～97 ℃. 1H NMR (DMSO-d6, 400 MHz) δ = 9.88 (s, 1H),

7.60 (d, J = 4.0 Hz, 2H), 7.26～7.30 (m, 2H), 7.01～7.03 (m, 1H), 7.27～7.31 (m, 2H), 1.55～1.63 (m,
2H), 1.23～ 1.34 (m, 4H), 0.86～0.89 (m, 3H); 13C NMR (DMSO-d6, 100 MHz) δ = 171.75, 139.88,
129.14, 123.39 , 119.47, 36.89, 31.43, 25.34, 22.45, 14.41 ; HRMS: [M+Na+] calcd for C12H17NNaO
214.1208, found 214.1202.
Cyclopropanecarboxylic acid phenylamide(4b) 11

H
N

O white solid, mp: 108～110 ℃. 1H NMR (DMSO-d6, 400 MHz) δ = 10.11 (s, 1H), 7.55
(d, J = 4.0 Hz, 2H), 7.22～7.25 (m, 2H), 6.95～6.99 (m, 1H), 1.70～1.75(m, 1H), 0.73-～0.76 (m, 4H);
13C NMR (DMSO-d6, 100 MHz) δ = 172.11, 139.90, 129.19, 123.39 , 119.47, 15.05, 7.64; HRMS:
[M+Na+] calcd for C10H11NNaO 184.0738, found 184.0729.
Cyclohexanecarboxylic acid phenylamide(4c) 11

H
N

O white solid, mp: 140～142 ℃ . 1H NMR (DMSO-d6, 400 MHz) δ = 9.81 (s, 1H),

7.60 (d, J = 4.0 Hz, 2H), 7.25～7.29 (m, 2H), 6.99～7.02 (m, 1H), 2.28～2.35(m, 1H), 1.74～1.81 (m,
4H), 1.36～ 1.45(m, 2H), 1.16～ 1.31(m, 4H); 13C NMR (DMSO-d6, 100 MHz) δ = 174.79, 140.02,
129.12, 123.33 , 119.49, 45.36, 29.65, 25.91, 25.76; HRMS: [M+Na+] calcd for C13H17NNaO 226.1208,
found 226.1195.
N-Phenyl-2-p-tolyl-acetamide(4d) 18

H
N

O white solid, mp: 149～151 ℃. 1H NMR (DMSO-d6, 400 MHz) δ = 10.10 (s,

1H), 7.59 (d, J = 4.0 Hz, 2H), 7.26～7.30 (m, 2H), 7.22 (d, J = 4.0 Hz, 2H), 7.12 (d, J = 4.0 Hz, 2H),
7.01～ 7.04 (m, 1H), 3.58 (s, 2H), 2.27 (s, 3H); 13C NMR (DMSO-d6, 100 MHz) δ = 169.78, 139.78,
136.05, 133.46, 129.47, 129.38, 129.22, 123.68, 119.58, 43.48, 21.18; HRMS: [M+Na+] calcd for
C15H15NNaO 248.1051, found 248.1039.



S18

N-Phenyl-benzamide(4e) 17

H
N

O white solid, mp: 161～163 ℃. 1H NMR (DMSO-d6, 400 MHz) δ = 10.26 (s, 1H),

7.96 (d, J = 6.0 Hz, 2H), 7.78 (d, J = 4.0 Hz, 2H), 7.58～7.62(m, 1H), 7.52～7.55(m, 2H), 7.34～7.37 (m,
2H), 7.08～7.12 (m, 1H); 13C NMR (DMSO-d6, 100 MHz) δ = 166.08, 139.69, 135.51, 132.08, 129.14,
128.92, 128.18, 124.18, 120.86; HRMS: [M+Na+] calcd for C13H11NNaO 220.0738, found 220.0733.
4-Methyl-N-phenyl-benzamide(4f) 19

H
N

O white solid, mp: 146～148 ℃. 1H NMR (DMSO-d6, 400 MHz) δ = 10.16 (s,

1H), 7.88 (d, J = 4.0 Hz, 2H), 7.78 (d, J = 4.0 Hz, 2H), 7.33～7.36 (m, 4H), 7.07～7.11 (m, 1H), 2.39 (s,
3H); 13C NMR (DMSO-d6, 100 MHz) δ = 165.83, 142.05, 139.73, 132.58, 129.40, 129.07, 128.18, 124.03,
120.82, 21.52; HRMS: [M+Na+] calcd for C14H13NNaO 234.0895, found 234.0889.
4-Nitro-N-phenyl-benzamide(4g) 20

H
N

O

NO2

brown solid, mp: 146～148 ℃. 1H NMR (DMSO-d6, 400 MHz) δ = 10.83 (s,

1H), 8.37 (d, J = 6.0 Hz, 2H), 8.20 (d, J = 4.0 Hz, 2H), 7.79 (d, J = 4.0 Hz, 2H), 7.36～7.40 (m, 2H),
7.13～7.16 (m, 1H); 13C NMR (DMSO-d6, 100 MHz) δ = 164.39, 149.62, 141.13, 139.22, 129.73, 129.22,
124.67, 124.05, 120.97, ; HRMS: [M+Na+] calcd for C13H10N2NaO3 265.0589, found 265.0582.
Compound (4h)

H
N

O
NH
Bocwhite solid, mp: 144～147 ℃ . 1H NMR (DMSO-d6, 400 MHz) δ = 9.90 (s, 1H),

7.59 (d, J = 4.0 Hz, 2H), 7.28～7.32 (m, 2H), 7.02～7.06 (m, 2H), 4.08～4.15 (m, 1H), 1.38 (s, 9H), 1.25
(d, J = 2.0 Hz, 3H); 13C NMR (DMSO-d6, 100 MHz) δ = 172.32, 155.65, 139.56, 129.15, 123.60, 119.58,
78.48, 50.88, 28.68, 18.50; HRMS: [M+Na+] calcd for C14H20N2NaO3 287.1372, found 287.1367.
Compound (4i)

H
N

O
NH
Boc

OH

white solid, mp: 85-87 ℃. 1H NMR (DMSO-d6, 400 MHz) δ = 9.96 (s, 1H), 7.62 (d,

J = 4.0 Hz, 2H), 7.28～7.32 (m, 2H), 7.02～7.06 (m, 2H), 6.79 (d, J = 4.0 Hz, 2H), 4.94～4.97 (m, 1H),
3.60～3.64 (m, 2H), 1.39 (s, 9H); 13C NMR (DMSO-d6, 100 MHz) δ = 169.97, 155.74, 139.52, 129.19,
123.72, 119.65, 78.73, 62.33, 57.88, 28.69; HRMS: [M+Na+] calcd for C14H20N2NaO4 303.1321, found
303.1318.



S19

Compound (4j)

H
N

O

HN
Boc

white solid, mp: 117-119 ℃. 1H NMR (DMSO-d6, 400 MHz) δ =10.03(s, 1H),

7.55 (d, J = 4.0 Hz, 2H), 7.22～7.30 (m, 6H), 7.11～7.17 (m, 2H), 6.99～7.03 (m, 1H), 4.27～4.29 (m,
1H), 2.77～ 2.96 (m, 2H), 1.27 (s, 9H); 13C NMR (DMSO-d6, 100 MHz) δ = 171.38, 155.96, 139.47,
138.51, 129.78, 129.26, 128.57, 126.81, 123.81, 119.75, 78.59, 57.11, 37.95, 28.68; HRMS: [M+Na+]
calcd for C20H24N2NaO3363.1685, found 363.1679.
Compound (4k)

H
N

O

HN
Boc

S

white solid, mp: 104-107℃ . 1H NMR (DMSO-d6, 400 MHz) δ =10.00(s, 1H),

7.60(d, J = 4.0 Hz, 2H), 7.29～7.33 (m, 2H), 7.18 (d, J = 4.0 Hz, 2H), 7.03～7.07 (m, 1H), 4.12～4.17 (m,
1H), 2.46～2.53 (m, 2H), 2.05 (s, 3H), 1.84～1.92 (m, 2H), 1.38 (s, 9H); 13C NMR (DMSO-d6, 100 MHz)
δ = 171.40, 155.06, 139.48, 129.23, 123.76, 119.73, 78.64, 54.90, 32.06, 30.33, 28.71, 15.15; HRMS:
[M+Na+] calcd for C16H24N2NaO3S 347.1405, found 347.1418.
Compound (4l)

H
N

O
N
Boc white solid, mp: 181～183 ℃. 1H NMR (DMSO-d6, 400 MHz) δ =9.98(s, 1H),

7.60(d, J = 4.0 Hz, 2H), 7.28～7.30 (m, 2H), 7.02～7.06 (m, 1H), 4.17～4.27 (m, 1H), 3.32～3.41
(m, 2H), 1.76～2.22 (m, 4H), 1.27～1.40 (m, 9H); 13C NMR (DMSO-d6, 100 MHz) δ = 172.01,
153.67, 139.60, 129.23, 123.71, 119.74, 78.98, 60.88, 47.08, 31.52, 28.46, 23.93; HRMS: [M+Na+]
calcd for C16H22N2NaO3 313.1528, found 313.1520.
Compound (4m)

H
N

O

HN
Boc O

white solid, mp: 161～163 ℃. 1H NMR (DMSO-d6, 400 MHz) δ

=10.05(s, 1H), 7.59(d, J = 4.0 Hz, 2H), 7.37～7.45 (m, 4H), 7.29～7.34 (m, 3H), 7.24 (d, J = 4.0 Hz,
2H), 7.11 (d, J = 6.0 Hz, 1H), 7.03～7.07 (m, 1H), 6.93 (d, J = 4.0 Hz, 2H), 5.06 (s, 2H), 4.22～4.28
(m, 1H), 2.76～ 2.93 (m, 2H), 1.32(s, 9H); 13C NMR (DMSO-d6, 100 MHz) δ = 171.45, 157.43,
155.96, 139.47, 137.70, 130.77, 130.60, 129.25, 128.92, 128.28, 128.18, 123.77, 119.72, 114.84,
78.56, 69.60, 57.35, 37.06, 28.68.; HRMS: [M+Na+] calcd for C27H30N2NaO4 469.2103, found
469.2098.



S20

Compound (4n) 21

N

O
white solid, mp:128-130 ℃. 1H NMR (DMSO-d6, 400 MHz) δ =8.10 (d, J = 4.0

Hz, 1H), 7.21 (d, J = 4.0 Hz, 1H), 7.10～7.14 (m, 1H), 6.95～6.98 (m, 1H), 4.12～4.16 (m, 2H),
3.10～3.15 (m, 2H), 2.51～2.56 (m, 1H), 1.65～1.81 (m, 5H), 1.18～1.45 (m, 5H), 2.03～2.07 (m,
2H), 1.48～1.51 (m, 2H), 1.20～1.28 (m, 4H), 0.83～0.87 (m, 3H); 13C NMR (DMSO-d6, 100 MHz)
δ = 174.39, 143.66, 132.37, 127.31, 125.16, 123.51, 116.71, 47.82, 43.11, 29.14, 27.88, 26.00, 25.65;
HRMS: [M+H+] calcd for C15H20N2O 230.1545, found 230.1542.
Compound (4o) 22

N
H

N
H

O

yellow solid, mp: 88-90 ℃. 1H NMR (DMSO-d6, 400 MHz) δ =10.80

(s, 1H), 7.87 (s, 1H), 7.53 (d, J = 4.0 Hz, 1H), 7.33 (d, J = 6.0 Hz, 1H), 7.13 (s, 1H), 7.04～7.08 (m,
1H), 6.96～6.99 (m, 1H), 3.30～3.36 (m, 2H), 2.79～2.83 (m, 2H), 2.03～2.07 (m, 2H), 1.48～1.51
(m, 2H), 1.20～ 1.28 (m, 4H), 0.83～ 0.87 (m, 3H); 13C NMR (DMSO-d6, 100 MHz) δ = 172.47,
136.71, 127.73, 123.02, 121.34, 118.72, 118.64, 112.38, 111.81, 39.89, 35.94, 31.40, 25.76, 25.47,
22.38, 14.34; HRMS: [M+H+] calcd for C16H32N2O 259.1810, found 259.1811.
Compound (4p) 23

H
N

O white solid, mp: 140-142 ℃. 1H NMR (DMSO-d6, 400 MHz) δ =7.88 (d, J = 4.0 Hz,
1H), 3.50～3.53 (m, 1H), 1.64～1.74 (m, 4H), 1.49～1.54 (m, 2H), 1.09～1.26 (m, 5H), 0.58～0.64
(m, 4H), 0.83～0.87 (m, 3H); 13C NMR (DMSO-d6, 100 MHz) δ = 171.78, 47.93, 33.11, 25.72, 25.09,
14.02, 6.49; HRMS: [M+H+] calcd for C10H18NO 168.1388, found 168.1387.
Compound (4q) 24

H
N

O white solid, mp: 68-70 ℃. 1H NMR (DMSO-d6, 400 MHz) δ =7.60 (d, J =
4.0 Hz, 1H), 3.47～3.52 (m, 1H), 1.99～2.03 (m, 2H), 1.64～1.72 (m, 4H), 1.43～1.56 (m, 3H),
1.08～1.28 (m, 9H), 0.83～0.87 (m, 3H); 13C NMR (DMSO-d6, 100 MHz) δ = 171.46, 47.68, 35.89,
33.01, 31.34, 25.73, 25.54, 25.09, 22.35, 14.33; HRMS: [M+H+] calcd for C12H24NO 198.1858, found
198.1856.

REFERENCES：
1. Chen, Z. K.; Fu, R. Z.; Chai, W.; Zheng, H.; Sun, L.; Lu, Q.; Yuan, R. X. An eco-benign and highly
efficient procedure for N-acylation catalyzed by heteropolyanion-based ionic liquids using carboxylic



S21

acid under solvent-free conditions. Tetrahedron 2014, 70 (13), 2237-2245; DOI: 10.1016/j.tet.
2014.02.042.
2. Sonawane, R. B.; Rasal, N. K.; Jagtap, S. V. Nickel-(II)-catalyzed N-formylation and N-acylation
of amines. Org. Lett. 2017, 19 (8), 2078-2081; DOI: 10.1021/acs.orglett.7b00660.
3. Jia, M. M.; Zhang, H.; Lin, Y. J.; Chen, D. M.; Chen, Y. M.; Xia, Y. Z. Consecutive Lossen
rearrangement/transamidation reaction of hydroxamic acids under catalyst- and additive-free
conditions. Org. Biomol. Chem. 2018, 16, 3615-3624; DOI: 10.1039/c8ob00490k.
4. Majumdar, S.; De, J.; Hossain, J.; Basak, A. Formylation of amines catalysed by protic ionic
liquids under solvent-free condition. Tetrahedron Lett. 2013, 54 (3), 262-266; DOI:
10.1016/j.tetlet.2012.11.017.
5. Vittorio, P.; Karen, V. H.; Ernst U.; Thierry, L. Chemoselective Schwartz Reagent Mediated
Reduction of Isocyanates to Formamides. Org. Lett. 2016, 18(11), 2750-2753; DOI:
10.1021/acs.orglett.6b01226.
6. Akikusa, N.; Mitsui, K.; Sakamoto, T.; Kikugawa, Y. A New Formylating Reagent:
N-(Diethylcarbamoyl)-N-methoxyformamide. Synth. 1992(11),1058-1060; DOI:
10.1055/s-1992-26298.
7. Dine, T. M. E.; Evans, D.; Rouden, J.; Blanchet, J. Formamide synthesis through borinic acid
catalysed transamidation under mild conditions. Chem. -Eur. J. 2016, 22 (17), 5894-5898; DOI:
10.1002/chem.201600234.
8. Sharley, D. D. S.; Williams, J. M. J. Acetic acid as a catalyst for the N-acylation of amines using
esters as the acyl source. Chem. Commun. 2017, 53, 2020-2023; DOI: 10.1039/c6cc09023k.
9. Tan, Z. Y.; Li, Z. H.; Ma, Y.; Qin, J. J.; Yu, C. M. Potassium tert-Butoxide Prompted Highly
Efficient Transamidation and Its Coordination Radical Mechanism. Eur . J. Org. Chem. 2019(28),
4538-4545; DOI: 10.1002/ejoc.201900666.
10. Vodnala, N.;Gujjarappa, R.; Hazra, C. K.; Kaldhi, D.; Kabi, A. K.; Beifuss, U.; Malakar, C. C.
Copper-Catalyzed Site-Selective Oxidative C-C Bond Cleavage of Simple Ketones for the Synthesis
of Anilides and Paracetamol. Adv. Synth. Catal. 2019, 361(1), 135-145; DOI: 10.1002/adsc.
201801096.
11. Savanur, H. M.;Malunavar,S. S.; Prabhala P.; Sutar, Kalkhambkar, R. G.; Laali, K. K. Synthesis
of diverse libraries of carboxamides via chemoselective N-acylation of amines by carboxylic acids
employing Brønsted acidic IL [BMIM(SO3H)][OTf]. Tetrahedron Lett. 2019, 60(17), 151-159; DOI:
10.1016/j.tetlet.2019.151159.
12. �lvarez-Perez, A.; Esteruelas, M. A.; Izquierdo, S.; Varela, J. A.; Saá C. Ruthenium-Catalyzed
Oxidative Amidation of Alkynes to Amides. Org. Lett. 2019, 21, 5346-5350; DOI:
10.1021/acs.orglett.9b01993.
13. Bartolucci, S.; Mari, M.; , Bedini, A.; Piersanti, G.; Spadoni, G. Iridium-Catalyzed Direct
Synthesis of Tryptamine Derivatives from Indoles: Exploiting N- Protected β-Amino Alcohols as
Alkylating Agents. J. Org. Chem. 2015, 80, 3217-3222; DOI: 10.1021/acs.joc.5b00195.
14. Sonawane, R. B.; Rasal, N. K.; Bhange, D. S.; Jagtap, S. V. Copper-(II) Catalyzed N-Formylation
and N-Acylation of Aromatic, Aliphatic, and Heterocyclic Amines and a Preventive Study in the C-N

https://doi.org/10.1016/j.tet.2014.02.042
https://doi.org/10.1016/j.tet.2014.02.042
https://www.researchgate.net/deref/http://dx.doi.org/10.1039/C8OB00490K
https://www.sciencedirect.com/science/article/pii/S0040403912019387
https://www.sciencedirect.com/science/article/pii/S0040403912019387
https://pubs.acs.org/action/doSearch?field1=Contrib&text1=Vittorio++Pace
https://pubs.acs.org/action/doSearch?field1=Contrib&text1=Karen++de+la+Vega-Hern%C3%A1ndez
https://pubs.acs.org/action/doSearch?field1=Contrib&text1=Ernst++Urban
https://pubs.acs.org/action/doSearch?field1=Contrib&text1=Thierry++Langer
https://doi.org/10.1021/acs.orglett.6b01226
https://www.researchgate.net/journal/0039-7881_Synthesis
https://pubs.rsc.org/en/results?searchtext=Author:Daniel D. Sanz Sharley
https://pubs.rsc.org/en/results?searchtext=Author:Jonathan M. J. Williams
https://pubs.rsc.org/en/results?searchtext=Author:Jonathan M. J. Williams
https://onlinelibrary.wiley.com/action/doSearch?ContribAuthorStored=Tan,+Zhiyong
https://onlinelibrary.wiley.com/action/doSearch?ContribAuthorStored=Vodnala,+Nagaraju
https://www.sciencedirect.com/science/article/pii/S0040403919309323?via=ihub
https://www.sciencedirect.com/science/article/pii/S0040403919309323?via=ihub
https://www.sciencedirect.com/science/article/pii/S0040403919309323?via=ihub
https://www.sciencedirect.com/science/article/pii/S0040403919309323?via=ihub
https://www.sciencedirect.com/science/article/pii/S0040403919309323?via=ihub
https://www.sciencedirect.com/science/journal/00404039


S22

Cross Coupling of Amines with Aryl Halides. ChemCatChem 2018, 10(17), 3907-3913; DOI:
10.1002/cctc.201800609.
15. Luque, R.; Budarin, V.; Clark,J. H.; Macquarrie, D. J. Microwave-assisted preparation of amides
using a stable and reusable mesoporous carbonaceous solid acid. Green Chem. 2009, 11, 459-461;
DOI: 10.1039/b821392p.
16. Jiao, L. Y.; Oestreich, M. Oxidative Palladium(II)-Catalyzed Dehydrogenative CH/CH
CrossCoupling of 2,3-Substituted Indolines with Arenes at the C7 Position. Chem. -Eur. J. 2013, 19,
10845-10848; DOI: 10.1002/chem.201302140.
17. Jammi, S.; Sakthivel, S.; Rout, L.; Mukherjee, T.; Mandal, S.; Mitra, R.; Saha, P.; Punniyamurthy,
T. CuO Nanoparticles Catalyzed C-N, C-O, and C-S Cross-Coupling Reactions: Scope and
Mechanism. J. Org. Chem. 2009, 74, 1971-1976; DOI: 10.1021/jo8024253.
18. Ghorpade, S. A.; Sawant, D. N.; Sekar, N. Triphenyl borate catalyzed synthesis of amides from
carboxylic acids and amines. Tetrahedron 2018, 74, 6954-6958; DOI: 10.1016/j.tet.2018.10.030.
19. Deng, L. L.; Huang, B.; Liu, Y. Y. Copper(ii)-mediated, carbon degradation-based amidation of
phenylacetic acids toward N-substituted benzamides. Org. Biomol. Chem. 2018, 16, 1552-1556; DOI:
10.1039/c8ob00064f.
20. Zhu, Y. P.; Sergeyev, S.; Franck, P.; Orru, R. V. A.; Maes, B. U. W. Amine Activation: Synthesis
of N- (Hetero)arylamides from Isothioureas and Carboxylic Acids. Org. Lett. 2016, 18(18), 4602-4605;
DOI: 10.1021/acs.orglett.6b02247.
21. Dander, J. E.; Baker, E.; Garg, N. K. Nickel-catalyzed transamidation of aliphatic amide
derivatives. Chem. Sci. 2017, 8, 6433-6438; DOI: 10.1039/c7sc01980g.
22. Oliveira, R. R. B.; Brito, T. B.; Nepel, A.; Costa, E. V.; Barison, A.; Nunes, R. S.; Santos, R. L.
C.; Cavalcanti, S. C. H. Synthesis, Activity, and QSAR Studies of Tryptamine Derivatives on
Third-instar Larvae of Aedes Aegypti Linn. Med. Chem. 2014, 10, 580-587; DOI:
10.2174/1573406409666131202144010.
23. Yong-Hua Yang and Min Shi. Ring-Expanding Reaction of Cyclopropyl Amides with
Triphenylphosphine and Carbon Tetrahalide. J. Org. Chem. 2005, 70, 8645-8648; DOI:
10.1021/jo0516988.
24. Tian, J.; Gao, W. C.; Zhou, D. M.; Zhang, C. Recyclable Hypervalent Iodine(III) Reagent
Iodosodilactone as an Efficient Coupling Reagent for Direct Esterification, Amidation, and Peptide
Coupling. Org. Lett. 2012, 14(12), 3020-3023; DOI: 10.1021/ol301085v.

https://sci-hub.tw/10.1039/B821392P
https://doi.org/10.1002/chem.201302140
https://sci-hub.tw/10.1021/jo8024253
https://sci-hub.tw/10.1016/j.tet.2018.10.030
https://sci-hub.tw/10.1021/acs.orglett.6b02247


S23

Ⅸ 1H and 13C-NMR Spectra of the synthesised products
1H NMR spectra

13C NMR spectra

H
N H

O
2a

H
N H

O
2a



S24

1H NMR spectra

13C NMR spectra

H
N H

O
2b

H
N H

O
2b



S25

1H NMR spectra

13C NMR spectra

O

H
N H

O

2c

O

H
N H

O

2c



S26

1H NMR spectra

13C NMR spectra

H
N O

2d
F

H
N O

2d
F



S27

1H NMR spectra

13C NMR spectra

H
N O

2e
Cl

H
N O

2e
Cl



S28

1H NMR spectra

13C NMR spectra

H
N O

2f
Br

H
N O

2f
Br



S29

1H NMR spectra

13C NMR spectra

O2N

H
N H

O

2g

O2N

H
N H

O

2g



S30

1H NMR spectra

13C NMR spectra

2h

H
N H

O

Cl

2h

H
N H

O

Cl



S31

1H NMR spectra

13C NMR spectra

H
N

2i
O

H
N

2i
O



S32

1H NMR spectra

13C NMR spectra

H
N

2j
O

H
N

2j
O



S33

1H NMR spectra

13C NMR spectra

2k

H
N

O

H

2k

H
N

O

H



S34

1H NMR spectra

13C NMR spectra

2l

H
N

O

H

2l

H
N

O

H



S35

N
H

O2oN
H

O2o

1H NMR spectra

13C NMR spectra

2m

N
H

O

H

2m

N
H

O

H



S36

1H NMR spectra

13C NMR spectra

H
N O

2n

H
N O

2n



S37

1H NMR spectra

13C NMR spectra

2oN
H

N
H

O

H

2oN
H

N
H

O

H



S38

1H NMR spectra

13C NMR spectra

2p

N
H

O

H

2p

N
H

O

H



S39

1H NMR spectra

13C NMR spectra

2q

N
H
N

O

H

2q

N
H
N

O

H



S40

1H NMR spectra

13C NMR spectra

2r

N H

O

2r

N H

O



S41

1H NMR spectra

13C NMR spectra

2s

N

H
O

2s

N

H
O



S42

1H NMR spectra

13C NMR spectra

2t

N

H
N H

O

2t

N

H
N H

O



S43

1H NMR spectra

13C NMR spectra

H
N

O

3a

H
N

O

3a



S44

1H NMR spectra

13C NMR spectra

H
N

O 3b

H
N

O 3b



S45

1H NMR spectra

13C NMR spectra

H
N

O
O

3c

H
N

O
O

3c



S46

1H NMR spectra

13C NMR spectra

H
N

O
F

3d

H
N

O
F

3d



S47

1H NMR spectra

13C NMR spectra

H
N

O
Cl

3e

H
N

O
Cl

3e



S48

1H NMR spectra

13C NMR spectra

H
N

O
Br

3f

H
N

O
Br

3f



S49

1H NMR spectra

13C NMR spectra

H
N

O
O2N

3g

H
N

O
O2N

3g



S50

1H NMR spectra

13C NMR spectra

H
N

O
3hCl

H
N

O
3hCl



S51

1H NMR spectra

13C NMR spectra

H
N

O

3i

H
N

O

3i



S52

1H NMR spectra

13C NMR spectra

H
N

O

3k

H
N

O

3k



S53

1H NMR spectra

13C NMR spectra

H
N

O

3l

H
N

O

3l



S54

1H NMR spectra

13C NMR spectra

N
H

O

3m

N
H

O

3m



S55

1H NMR spectra

13C NMR spectra

3n

H
N

O

3n

H
N

O



S56

1H NMR spectra

13C NMR spectra

3oN
H

N
H

O

3oN
H

N
H

O



S57

1H NMR spectra

13C NMR spectra

3p

N
H

O

3p

N
H

O



S58

1H NMR spectra

13C NMR spectra

3q

N
H
N

O

3q

N
H
N

O



S59

1H NMR spectra

13C NMR spectra

N

O

3r

N

O

3r



S60

1H NMR spectra

13C NMR spectra

3sN

O

3sN

O



S61

1H NMR spectra

13C NMR spectra

N

H
N

O
3t

N

H
N

O
3t



S62

1H NMR spectra

13C NMR spectra

H
N

O
4a

H
N

O
4a



S63

1H NMR spectra

13C NMR spectra

H
N

O

4b

H
N

O

4b



S64

1H NMR spectra

13C NMR spectra

H
N

O
4c

H
N

O
4c



S65

1H NMR spectra

13C NMR spectra

H
N

O

4d

H
N

O

4d



S66

1H NMR spectra

13C NMR spectra

H
N

O
4e

H
N

O
4e



S67

1H NMR spectra

13C NMR spectra

H
N

O
4f

H
N

O
4f



S68

1H NMR spectra

13C NMR spectra

H
N

O

NO2

4g

H
N

O

NO2

4g



S69

1H NMR spectra

13C NMR spectra

4h

H
N

O
NH
Boc

4h

H
N

O
NH
Boc



S70

1H NMR spectra

13C NMR spectra

H
N

O
NH
Boc

OH

4i

H
N

O
NH
Boc

OH

4i



S71

1H NMR spectra

13C NMR spectra

4j

H
N

O

HN
Boc

4j

H
N

O

HN
Boc



S72

1H NMR spectra

13C NMR spectra

4k

H
N

O

HN
Boc

S

4k

H
N

O

HN
Boc

S



S73

1H NMR spectra

13C NMR spectra

4l

H
N

O
N
Boc

4l

H
N

O
N
Boc



S74

1H NMR spectra

13C NMR spectra

4m

H
N

O

HN
Boc O

4m

H
N

O

HN
Boc O



S75

1H NMR spectra

13C NMR spectra

N

O4n

N

O4n



S76

1H NMR spectra

13C NMR spectra

N
H

N
H

O

4o

N
H

N
H

O

4o



S77

1H NMR spectra

13C NMR spectra

H
N

O
4p

H
N

O
4p



S78

1H NMR spectra

13C NMR spectra

H
N

O
4q

4q

H
N

O



S79

Ⅹ Chiral HPLC analysis

H
N

O
NH
Boc (4h)

HPLC Conditions: Column: Chiralcel OD-H column; Eluent: Hexanes:i-propanol (90:10); Flow

rate: 1.0 mL/min; Detection: UV210 nm.

Racemic

Chiral



S80

H
N

O
NH
Boc

OH

(4i)

HPLC Conditions: Column: Chiralcel OD-H column; Eluent: Hexanes:i-propanol (90:10); Flow

rate: 1.0 mL/min; Detection: UV210 nm.

Racemic

Chiral



S81

H
N

O

HN
Boc

(4j)

HPLC Conditions: Column: Chiralcel OD-H column; Eluent: Hexanes:i-propanol (90:10); Flow

rate: 1.0 mL/min; Detection: UV210 nm.

Racemic

Chiral



S82

H
N

O

HN
Boc

S

(4k)

HPLC Conditions: Column: Chiralcel OD-H column; Eluent: Hexanes:i-propanol (90:10); Flow

rate: 1.0 mL/min; Detection: UV210 nm.

Racemic

Chiral



S83

H
N

O
N
Boc (4m)

HPLC Conditions: Column: Chiralcel OD-H column; Eluent: Hexanes:i-propanol (99:1); Flow

rate: 1.0 mL/min; Detection: UV210 nm.

Racemic

Chiral



S84

H
N

O

HN
Boc O

(4m)

HPLC Conditions: Column: Chiralcel OD-H column; Eluent: Hexanes:i-propanol (99:1); Flow

rate: 1.0 mL/min; Detection: UV210 nm.

Racemic

Chiral


	2.Sonawane, R. B.; Rasal, N. K.; Jagtap, S. V. Nicke
	6.Akikusa, N.;  Mitsui, K.;  Sakamoto, T.; Kikugawa,

